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Cumput,cr Arrllcatioiu 
C'll1n: X Time: 211n.• 151\1ilu. 

( nndi,clntcs me llllu\vcd 15 minutes fo, rc11d111g !he paper only. they must NO'I 5111n wri1,ng 
durms tlus tune Answtr nil the qucstiMs in Sccliuo A, nnd tiny four from Sct'.linn n 

SECTION A 
Q~cstinot: 
11 \ • Whnl 1s the dilJcrencc between impl icit and explicit 1ypc c:i.~ting? 
~ ~ 

h! Wrilt> one short h1111d arithmetic opc,·ntor 11nd c:< plnin ,~ use 
_o) Name the ~!ere.nee dnlll rypc in Java. 

-,)1 Bow 1s ,a Javn program mock cxccu1uble? 
\C) Write any two niles of nruning nn idcn1ific1 in Juva 

Pl 
121 
fll 
12] 
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Qucs1ion 2: 
, ~) What are tokens in Java'! (2] 

bf Write the dclimi.tcts used m Jnw,. (21 
•.)••(\Vh)• do we write a i· 111 between lwo ¥alu~s to be 11rint~J usinl! Systcm.out.printlnU? 121 

dl Explain how logic works in binary search'! 12] 
._ c} Name the pruts o[ o function hender. 12) 
Qucs·tion 3: 
of. '\\olrnt oie bJfil!<:IJ:lasses? 1 , "-f ,. '· 

,.,, b) \\'hat 1s a str.iction·? 
,.c'f Whal i,s lhe Jiffercncc bc1wc:cn if nnd s\\ ilch()'? 
d) \ Vriti: the ,;ommnnds whkh 1mnsfcrs control in a Jarn progrnrn uncpni.li!ionall ) . 
eJ .Evalua1c the following cxpress,011: 

!ta>b && a>c) when a=7. b=S. nnd c=2. 

Queslion 4: 
Wntc the output for I.he following code segments: 
:i) 

I,) 

cl:lss t 
I 

' public st;ilic void di) 
( 

~(): 
Sys1cm.outprintln("wniting"): 

} 
public stuli'c void cu 
{ 

mO: 
Systcm.out .pri,oiln("um"): 

i 
public siatic void m() 

I 
System.out. prin1ln( "I"); 

l 
public static void main(S tring nrgslJ J 

t 
d(): 

I 
) 

i=O; 
do 

t 
do 

' Systcm.oul.prinlln(i): i.,,+: 
break: 
I whilc(truc): 

fv ... hi1c(i<5): 

Pl 
l2J 
[]] 
Pl 
[2] 



LOI vic 5, v;:" 10; 
for(i 'nl x= I ::.:<: 2:x++) 

I 
Sy~1cm.ou1.prin1Jn( ++v I): 
Sys1em.ouLprint1o(v2.- ): 

System.out.println(-•v1): 
Systcm.oulprintln(vl tt\: 

) 

SECTION D 

Wril~ progn,ms in ja,·11 along with tht" variable de~criplion for :my 4 or lhc rollowin1t 
questions: t~ ~ L5 ,. 6()] 

Question 5: 
To ncccpt an integer ·value from the user nn.d prim ii tn words. 
Li input is: 7639 
The outpul should be; Seven Six. Three Nine 

Q ueslion, 6: 
To nccept a string from the usc_r ond rernov~ all the vowels from 1.he string. Print. th~ resul1ru11 
string 

Question 7: 

Declare :i class Ii me as follows: 
lnsLance Variables: 
Mctl10ds: 

Question 8: 

int hh.mm.ss 
i) to accept values fo:r tl1c instance variables. 
ii) to conver1-hrs., min., anil secs. in seconds. 
iii) to convert seconds(passed as parameter) into hrs., 

min .. and sec~. 

Write overloaded functions to find 1.he penmeler of a triangle, a quadq nglc, a pc11tagon, and a 
hexagon. 

Qu,estion 9: 
Declare an array of size n(to be taken Crom the user) for integer values. Store the 

values given by I.he us,:r in it Print only those values from tire an-uy wb.ich occur more than 
once. 

Qu~ tio-n .10: 

Declare arrays to store names, marks in Eni;lish. Muthemntics. ,md Science for n 
students, Store ruunes and tl1eir murks in the th ree ~ubjecls i11 the com:sp1.1nding eel Is 
of the arrays. Prial the names of those who scored l1ighcs1 in English, Mllrhernaucs. 
(Ind Scicntc separate!)'. 
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